A.  Acquisition (AQ) Business Requirements
Upon the execution of an Acquisition and immediately following or concurrent with the market notification, the following steps must be executed in this order:

1. Once ERCOT sends the Acquisition Drop (814_03 BGN07 = ‘AQ’) transaction) to the TDSP, ERCOT will not cancel the Acquisition Drop Transaction for any reason outside of normal Stacking Business Rules or MarkeTrak issues requesting a manual cancellation.  

2. ERCOT will NOT close any CSA service instances that are owned by the losing CR nor will we transition the CSA to the gaining CR.
3. ERCOT will evaluate all pending orders based on the ESIID list received from the Losing CR to determine if an Acquisition Drop Transaction is required and take action as specified in Appendix A
: Process for Pending Transactions. 
· Pending Service Orders are Move-Ins, Move-Outs, Mass Transition Drops Requests, and Switches that are not complete or cancelled.
4. Based on the list received from the Losing CR, ERCOT will evaluate all ESI IDs that have the Losing CR as the REP of Record and that do not have any pending service orders on them.

5. ERCOT will submit 814_03s to TDSPs for these ESI IDs requesting current day + FASD for non-date specific drops or current day + 3 business days for date specific drops.

· Non-date specific will be submitted with FASD

· Date specific will be submitted with requested date of current date + 3 business days

Appendix A:  Process for Pending Transactions 

Enhanced or automated handling of pending transactions during an Acquisition event

Develop procedures to address pending transactions in ERCOT’s Stacking queue according to the following business rules established by the market.
Definitions Used:

Notification Day – Acquisition Notification Email is sent.

Business Day 0 – Acquisition Conference Call occurs and ERCOT sends 814_03s.

· 814_ 03s are based on current Standard and Self Selected Switch logic – Drops not requesting a specific date will receive an 814_03 requesting current date + FASD and Drops requesting a specific date will receive an 814_03 requesting current date + Three (3) Business Days.

1. Losing CR is the Rep Of Record at ERCOT

a. Losing CR has a MVI scheduled 
1.  MVI SMRD is <= Business Day Zero (0) 
· ERCOT will submit the 814_03 transition request

2.  MVI SMRD is > Business Day Zero (0) 
· ERCOT will submit the 814_03 transition request
· Losing CR will be responsible for cancelling the MVI and the Gaining CR shall resubmit the MVI with the requested date provided by the Losing CR
b. Losing CR has a MVI requested (not yet scheduled) 
·  ERCOT will submit the 814_03 transition request
· Losing CR will be responsible for cancelling the MVI and Gaining CR shall resubmit the MVI with the requested date provided by the Losing CR
c. Losing CR has a MVO scheduled and is the CSA

1.  MVO SMRD is <= Business Day Zero (0)
· ERCOT will submit the 814_03 transition request 
2.  MVO SMRD > Business Day Zero (0
 
· ERCOT will submit the 814_03 transition request 
1. If MVO SMRD > Drop Completion Date then the Gaining CR shall resubmit the MVO with requested date provided by the Losing CR* - ERCOT will provide the MVO date in the 814_14

2. Losing CR is responsible for ending CSA relationship
d. Losing CR has a MVO requested 
(not yet scheduled) and is the CSA

· ERCOT will submit the 814_03 transition request *
· Losing CR will be responsible for cancelling the MVO and Gaining CR shall resubmit the MVO with the requested date provided by the Losing CR – ERCOT will provide the MVO date in the 814_14

· Losing CR is responsible for ending CSA relationship
e. Losing CR has a MVO scheduled and another CR is the CSA

1. MVO SMRD <= Seven (7) Business Days
· MVO is allowed to complete
2. MVO SMRD > Seven (7) Business Days or Drop Completion Date
· ERCOT will submit the 814_03 transition request

· Gaining CR shall resubmit the MVO with requested date provided by the Losing CR

f. Losing CR has MVO requested (not yet scheduled) and another CR is the CSA

· ERCOT will submit the 814_03 transition request 
· Gaining shall resubmit the MVO with requested date provided by the Losing CR – Provided by ERCOT in the 814_14

g. Losing CR has a MVO scheduled and there is no CSA

1. MVO SMRD <=  Seven (7) Business Days
· MVO is allowed to complete
2. MVO SMRD > Seven (7) Business Days
· MVO is not cancelled
· ERCOT will submit the 814_03 transition request
· Gaining shall resubmit the MVO with requested date provided by Losing CR 
h. Losing CR has a MVO requested (not yet scheduled) and there is no CSA

· ERCOT will, submit the 814_03 transition request 
· Gaining shall resubmit the MVO with requested date provided by Losing CR – provided by ERCOT in the 814_14
i. Switch (SW) scheduled away from Losing CR
1. SW SMRD <= the requested date in the 814_03 + Four (4) Business Days
· Switch is allowed to complete 
2. SW SMRD > the requested date in the 814_03 + Four (4) Business Days
· ERCOT will submit the 814_03 transition request 
· Switch is allowed to complete - no action will be taken by ERCOT on the switch
j. SW requested (not yet scheduled) away from Losing CR
·  ERCOT will submit the 814_03 transition request
· Switch is allowed to complete - no action will be taken by ERCOT on the switch
k. Losing CR is Current CR and MVI is scheduled from a different CR
1. MVI SMRD <= the requested date in the 814_03 + Four (4) Business Days 
· Move-In is allowed to complete 
2.   MVI SMRD > the requested date in the 814_03 + Four (4) Business Days
· ERCOT will submit the 814_03 transition request
· Move-In will be allowed to complete 

l. Losing CR is Current CR and MVI has been requested (not yet scheduled) from a different CR
· ERCOT will submit the 814_03 transition request
· Move-In will be allowed to complete 

2. Losing CR is not the REP of Record at ERCOT

m.  Losing CR has a MVI scheduled 

1. MVI SMRD <= Calendar Day Zero (0) 
· ERCOT submits the 814_03 transition request

2. MVI SMRD > Calendar Day Zero (0) 
· Gaining submits the MVI based on directive from Losing CR (Losing CR responsibility to cancel the MVI)

n.  Losing CR has a MVI requested (not yet scheduled) 
·  The Gaining submits the MVI based on directive from Losing CR (Losing CR has responsibility to cancel MVI)

o.  Losing CR has a Switch (SW) scheduled

1. SW SMRD <= Calendar Day Zero (0) 
· ERCOT submits the 814_03 transition request

2. SW SMRD > Calendar Day Zero (0) 
· ERCOT does not perform any action 
· The Gaining submits the Switch based on directive from Losing CR (Losing CR has responsibility to cancel the Switch)
p. Losing CR has a Switch (SW) requested (not yet scheduled) 
· ERCOT does not perform any action 
· The Gaining submits the Switch based on directive from Losing CR (Losing CR has responsibility to cancel the Switch)
q. Move-Out (MVO) scheduled, Losing CR is the CSA 
1. MVO SMRD <= Business Day Zero (0) 
· ERCOT submits the 814_03 transition request
2. MVO SMRD > Business Day Zero (0) 
· MVO is allowed to complete 
· Gaining CR submits switch based on directive from the Losing CR
r. MVO Requested (not yet scheduled),  Losing CR is the CSA 
· ERCOT does not perform any action

· MVO is allowed to complete 
· ERCOT will not transition the ESI ID

· Gaining CR should submit switch per date provided by Losing CR

�appendix will chnage 


�If we push this out and then transition this, the MVO cannot happen.  


�If this transitions, the MVO cannot happen





